Week 7 Worksheet Thursday

Instructions. Discuss with your group mates and do the following problems. You are not expected
to finish all the problems. :)

Topic: Derivative Computing

Enhance the impression! Common Derivatives that we learned so far:
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1. Compute the Derivatives of the following functions (No need to use definition.)

(a) f(2)= ﬁ

(b) y=(z+ 52)2 (tan z)

(c) y==E)

(d) y = sin (3z) — cos (2z)

(e) f(z) = (cosz)® — cos (z°)

(f) y = cos (sin (cos (z?)))

(g) f(z)=cos(z?)tan (Vz+1) (2013fall ezam)

(h) Consider y as a function of z. What is ﬂ?md % [zy]? (The expression should contain
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f (z) = 3sin (—2z) + 50022015 4 z2016, What is f(2016) (z)?
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